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DAY 3 - Fmd Equatton okames from Word Prob!ems .

To purchase a fi shsng ilcense it costs $25/year plus a 7 A medxum p:zza costs a ﬂat rate of $9 Each addmonai
one-time $5 fee for processing the appimancn Assign toppmg cost is $0.65. Ass:gn vanabies and state the
vanables and state the equation that descnbes this. . equatton that descnbes th:s

3 Bnan s car costs h;m $4OGO plus $0 20 per km every 4. M:ke earns $225 each week. Asszgn var abies and state
year. Assign variables and state the equahon thai: . the equatson that desz:nbes th;s -
descrtbes th;s ; -

. .
. p A c!ub charges each member $24 plus $2 per each 6 Eac:h chocoiate box costs $5 99 Ass;gn vanabies and - ‘“

exercise class. Asssgn var;ab es and state {he equatton . state the equatxon that descnbest is.
that descnbes thxs . ;

7. Tim wants air condiiioning in his room. The air . b, f Tim spent $85 tc c:ooi h;s room how many
conditioner costs $45. Each day the electricity costs$2. days did he run the AC? ‘
a. Assign variables and state the equatsan that ~ ~ ‘

descrsbes thts
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- ﬁeghew The ;:mﬁt office chargﬁﬁ $5. 50t0

- packag& the item before de%m&ry Each I}{}x ‘

sent costs an extra %3 25 aéée& fo tha starting

_ charge.

. Ass:gn vanabtes and state the equation that descnbes thss

12 Hercules Fitness Club has two different ra’ses for a ktck—‘
boxing class, one for members and one for non- ;
_members. For members of the fitness club, the yearly
_ membership is $75 and the cost of each class is $10.
For non-members of the club the cost of each class ;s
$25. Write down the two. equations for these ‘
reiatxonsh;ps Identify variables you are using.

14 Tammy wants o rent a movse from the vadeo store. The;i; . -
membershtp fee is $15, per month pl us $4 per mcv;e . -
- the

- 11 The sabmanne starts at??:{)OO ,;éeiow the*surface of

_water. As it rises the underwater pressure in the ocean - .
- decreases by about 51 kPa for every5m ofdepth. =
Ass:gn variables and state the equatron ihat descnbes .

\ ,thts ; ;

1‘3.: Students are plannmg a ski trip. They have a chotce

 between two packages. The first package costs $630 |
~ perstudent ltincludes2 mealsadayand

accommodation for 9 days. The second package costs; .

_ $720 per student. It includes 3 meals a day and
_ accommodation for 9 days. Write down the two
‘equations for these reiatmnshxps identify vanabies you
are using.
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nbk.: If Tammy spent $135 at the store how many
vsdeos dxd she rent? f"g -
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